‘\(,&/\\Q - ‘/ : --L_
N 7=

il

= 15w

=R LT KERR



N N P

© ©O© ©O© 00 0 00

10
11
11
11
11
12
12
14
22
22
23



¢ 13

139

50 >

¢ 40

913 ¢

13 ¢ 20

¢ 40

50









®13(

/

/ h
0.54 0.5/40 20
0.81 0.8l10 25
1.08 0.972 25
1.35 1. 2[15 25
1. 62 1. 4|58 25
1.809 1. 7001 40
2. 16 1. 9(44 40
2. 43 2. 187 40
2.70 2. 4[30 40
3.24 2. 592 40
3.78 3.0[24 40
4.32 3. 456 40
4. 86 3. 8/88 50
5.40 4. 320 50
6.75 4. 725 50
8.10 5.6/70 50
10. 80 7.020 75

©20( /h) h
1.26 1. 2(60 25
1.809 1. 8/90 40
2.52 2. 268 40
3.15 2.8/35 40
3.78 3. 402 40
4. 41 3.969 50
5.04 4.5/36 50
5.67 5. 10 3 50
6.30 5.6/70 50
7.56 6.0[48 75
8.82 7. 0|56 75
10.08 8.064 75
11. 34 9.072 75
12.60 10./080 75
15. 75 11./025 75
18. 90 13./]230 75

20
20
20
25
25
25
25
25
25
25
4 0
4 0
40
4 0
4 0
4 0
50



ERBR LU0 Em~] 6m

sr7kAs

HEREH | HEHER

RS EE D

—L'Efﬁﬁ;ﬁl 0 B~ 5m

FA-G—

;v;
ER e

Fib—

FAE-

T

k3

D 8~ 1. 2m

1 dm

[l 4
W
BA—5—

FEHRBE | BEHEAHE

mRERES




S
S

©100 ©150
30 750 1000 116
0O 250 280 30
0O 300 3000 30
0O 290 410 50
101590 1990 22646




°0

| © ==
s

@50

180
200|x 2

13140




|A Ll
[~ d
A — — —
~
o \ 7 N\ 7 N
/>\\ RN PXN N Y
(@) 2N N\
N7
\T a S
DI — N7
h— 7N\
T X — 7!:! —

RetR/NE  200X400







10



50 100 200

11




A T (R R R E

EEEZE0em HEEEE120cmElk
sal (ao) EEgKgr o 800 (30) = Fx a3 T
sa| (170 EM BT FEEET
O e maE) e T T
FHEET THRSET
209 mEART 20 L %
200 Mmoo ™0
200 W@ 500 mE R 1.200
w5 o [N — T
100
i * 200 T
wEl o "
100
ErEEN A RE (RiEF. #iBE)
EEBEZ80cm ERERE120cmilE
] T T TTIEED 0] (a0} BESMAT
150 (1700 .'n'_-:mmnn&:t:- 1500 {170} I_"l-l:mmﬂn&:m
THEET THEST
200 (P R BT 09 (M @iriEnE)
800
00 moE
1 1,300
Tod L O
200 W oB (mER)
1 P
- O
100
200 Wwooas (MR
i II/__\:_ ..... -
100

12



FHARMEE (AT, WBT. &KE)
HEETRE L ONRIZ LY EDD,

RS
350

60 %

BMEERET A=

™

MEERRRET
(150}

¥

N
S

MERARE
{200)

13

7



114

171
179
181
182
185
186
187
193
195
218
219
221

224
226
228
230
247
256
261
262
269
343
347
350
395

299
407
463

299
407
463

15
28
30
39
41

53
61

63
70
73
74

299

463

407

407

14



(1)

30

M- 40,

40

R M-

15



cm
cm
(RC-40)
cm
(RM-40) (RC-40))
RM- 40 M- 40, 30

16




m

(RM-40)

(RC-40))

RM- 40

17

M- 40,

30




%=

30mm

40mm

30cm

40cm

18

(2)

10cm

20cm

20cm
15cm

Dx133%



(1)

(2)
(3)

cm

cm

40mm —

40cm

»
»O
»
|

19

(1)

(2)



[ a [ ]

Cc

= W -
- _w
fztzL L= 2
CL

-
— E

w
—to
-]
—1 E

wn
—tc
—

oL
-
—T o
<
—-5
—to
]
oL
-

T 1




£ #HI &F 8 Al &b
| [ | [ [ [ | | [ | | [
‘HT L ?'2" 0.4n | L | 0.4n
L L
CI;Bm'-EAJ:
0 2m 9 / ‘9
T )l m oW
0,20 / / iy
1.0mEl £ o Bmet £
/
| [ [ | [ [ | [ [ [ [ |
1].|2m L {I.|2n' 0.4m| L |0.4m
| . | | . |

21




A—H —F DY —EHIEKRIK

=

\\ﬁ4P+vh

22

1 =

270Fv R




Klo

23




24



25



26



